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Quarter 1 Exam Review Date

Solve each equation.

1) 2+ 10|-5 — 4k| = 88 2) 3+7[3p-3| =87
15( 1) 327 9 4) 3k* +2k=16
3) ——Ax+—|=——"+—
3 10 5

Solve each equation. Remember to check for extraneous solutions.

1 k+3 3 x+5_ 1

5) —=—-—— - — 6 1+
)Sk k 5k* )x+3 x>-9
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Solve each inequality and graph its solution.

7) =3|10n| =9 <-99 8) 7-3|x—1]>-8

-7 -6 -5-4-3-2-101 2 3 4 5 6 7 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

Solve each compound inequality and graph its solution.

9) 3+8n<5+8nor5+7n<6n+8 10) 5 +9>2-9+3r>-3+9r

-8 -7-6-5-4-3-2-101 2 3 4 5 6 -10 -8 -6 -4 -2 0

Simplify each expression.

a+l  2a+9 12) 6a  3a’+3a-18

11 +
)3a—1 6a’ +25a—9 a-3 18a* -36a
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Simplify.

13)

15)

x4y0 _ (x—4)—2
2x—3y—2

(7x4 + 8 + x2) + (x2 —7x* - 6x3)

Solve each word problem algebraically.

17)

19)
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Jenny wants to make a 16% acid solution.
She has already poured 2 L of a 40% acid
solution into a beaker. How many L of a

12% acid solution must she add to this to

create the desired mixture?

The ages of three family children can be
expressed as consecutive integers. The
square of the age of the youngest child is 4
more than eight times the age of the oldest
child. Find the ages of the three children.

14)

16)

18)

20)

(6x* — 1+ 6x) — (5x* — 8x + 4)

(4x—3)(5x> = 7x - 4)

Huong left the mall and traveled toward
the town hall at an average speed of 70
km/h. Mark left two hours later and
traveled in the opposite direction with an
average speed of 35 km/h. Find the
number of hours Mark needs to travel
before they are 350 km apart.

A collection of 33 coins, consisting of
nickels, dimes, and quarters, has a value of
$3.30. If there are three times as many
nickels as quarters, and one-half as many
dimes as nickels, how many coins of each
kind are there?
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Answers to Quarter 1 Exam Review

1) No solution. -
) 2) {5, -3 3 |17 5|8,
3 3
1 7
5) (— -3 6) (—
1 3l
T) n>3o0rn<-3: S—t———— >
-7-6-5-4-3-2-10123 4567
8) 4<x<6: P
-5 4 -3-2-10 1 2 3 4 5 6 17
9) { All real numbers. } : >
8-7-6-5-4-3-2-101 2 3 45 6
10) _9SV<_1: —+— E——tt
-10 -8 -6 -4 -2 0 2
152 4 B
11) a+1 12) a+3 13) Xy 14) x"+14x-5
a-3
15) —6x° +2x* + 8 16) 20x> —43x? + 5x+ 12 17) 12L
18) 2 hours 19) 20)
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